I Defensive and Competitive Bidding I

I Leads and Signals I

Overcalls (Style; Responses; Reopening)

Very light, new suit normally forcing

Opening Leads Style

Lead

In Partner’s Suit

3rd_5[h

3rd_5th

1 NT overcall (2ND/4TH; Responses; Reopening)

3rd_5th

3rd_5th

15-18, syson

From remaining

Leads

Jump Overcalls (Style; Responses; Unusual NT)

Vs. Suit

Vs. NT

Very light non-vul

AK/AKX/AKXX(X)

AK/AKXAKXX(X)

KQ/KQI(X)/KQT(X)

KQ/KQI(X)/KQT(x)

Direct and Jump Cue Bids (Style; Responses)

AQI(X)/QI(X)/QIT(X)

AQI(X)/QI(X)/QIT(x)

Aksel Hornslien Olav Hoyem

Heimdal Heimdal

1m-2m=both M 1M-2M=0Other M+cl 2M-4m=m+other M

HIT(X)AT(x)

HIT(X)AT(X)

System Summary

VS. NT (vs. Strong/Weak; Reopen: PH)

HTOX/AQT(x)/Tox

HTIX/AQT(X)/T9X

General Approach and Style

X=max of opener
2cl=both M 2d=1M 2M=4+M/5+m 2NT=both m
Against weak NT :

X= 13+(semi)bal or strong unbal, 2cl=both M opening values
2d=multilandy weak, 2M=Natural opening values 2NT=18-20
bal

HIX/9xX/T9

HIX/9xX/T9

HXXX/HT9x/xXXX(X)

HxXX/HTIX/XXXX(X)

Signals in order of priority

Partners lead Declarer Discarding

Strength Lavinthal

Natural, 4-card Majors.

Lavinthal

Special bids that may require defence

VS. Preempts (Doubles; Cue bids; Jumps; NT bids)

X=TO 2NT=15-18

VS. Artificial Strong Openings

Against strong 1/2cl : d=both M, NT=both m

X=cl other=natural

Doubles

Signals (including Trump’s). Smith high=like from both

2d opening = Multi
2M opening = Tartan 5+M/4(5)+m

Special forcing pass sequences

Over Opponents’ take out double

Takeout Doubles (Style; Responses; Reopening)

Important notes that don'’t fit

Xx=9+ 1M forcing, Jumps preempt

Special, Art and Comp Dbl/Rdbl’s

Psychics

TO X light style

Can happen, but rarely




Nat, inv minor. 2M/3cl=weak

XY/XYZ

Nat, inv minor. 2M/3d=weak

XY/XYZ

2cl=Toronto all hands Replies : 2d=10-12 5-card,
2h=12-14 5-card, 2NT=12-14 4-card, 3NT 18-19 4-
card, New suit = natural 15+

2d either weak h raise 4-7 or d inv/GF 2h=7-9

2cl=Toronto all hands Replies : 2d=10-12 5-card,
2h=12-14 5-card, 2NT=12-14 4-card, 3NT 18-19 4-
card, New suit = natural 15+

2h either weak s raise 4-7 or h inv/GF 2s=7-9

15-17 (Semi)Bal

Stayman, transfers, 4cl/d/h/s=bal slaminv h/s/cl/d

Sys

Strong

2d wait, 2M/3m=Hxxxx

2NT rebid=22-24 (Puppet)

Multi
No strong NT

2h/3h/4h/2s/3s = pass/correct
2NT forcing, reply 3cl/d=h/s min, 3h/s=s/h max
3m to play

5+h/4(5)+m

3cl pass/correct, 2s/3d to play
2NT force, 3cl/d=cl/d min, 3h/3s=cl/d max

5+s/4(5)+m

3cl pass/correct, 3d to play, 3h inv
2NT force, 3cl/d=cl/d min, 3h/3s=cl/d max

20-21 (semi)bal

Puppet+transfer, 4cl/d/h/s=bal slaminv h/s/cl/d

Nat weak

New suit nat forcing

Running minor
3rd and 4th hand
Chance

4/5/6 cl pass/correct
4d ask single Major

Nat preempt

Nat pre-empt

Specific Ace ask

5c1=0, 5d/h/s=A 5NT=2 6kl=A 7NT=3

Cue-bids, (exc])RKCB, DOPLROPI




